Airport growth and transportation at
Toronto Pearson

~ Todd Ernlst, '
Director, Aviation Infrastructure, Energy & Environment
Greater Toronto Airports Authority Toronto Pearson
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’ A mega hub airport to support growth

Toronto Pearson
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Growing responsibly and sustainably 7
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Reducing GhG through facility improvements 7

Scope 1 & 2 emissions
from airport facilities
have been reduced
over 50% since 2006
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Shifting focus leads to significant GhG impact 7{
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Today

Toronto Pearson

UP Express: 0.08%
Bus: 2.02%

Taxi: 18.91%

Transport: 100%

Car: 75.26%

Airside Vehicles: 3.73%



X

Y The impacts of traffic congestion A

Toronto Pearson
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The vision N

Toronto Pearson
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Pearson envisions a i

new major transit hub, "
located at the airport,
benefitting the entire
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Toronto Pearson
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Transit mode share
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Technologies to reduce GhG from ground transportation 7a

Toronto Pearson

e Electric e New line e Electric e Public
cars e Reduced hydrogen transport
e Electric headway e Electric eTicketing
taxis hybrid e eBRT new

e New CNG 4 lines
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Toronto Pearson

How mode shift can impact GhG
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